Maytag MAF50PNA 04 - DOOR & RELATED ASSEMBLY

Maytag Commercial Maytag MAFS50PNA Washer Parts Parts Diagram 04 - DOOR & RELATED ASSEMBLY
Click on the part number to view part

Original Part Number Replaced By Part Description

001 24001407 Not Available DECAL, RED DOT
002 24001103 Rod, Push Button
003 24001721 Pin, Spring
004 24001338 Spring, Door Lock
005 24001336 Handle, Door
006 24001339 Washer, Nylon
007 24001341 3400814 Screw
008 24001462 Not Available DECAL, PUSH BUTTON RED
009 24001463 Not Available DOOR ASSY. (OPL)

" 24001464 Not Available DOOR ASSY. (OPL)
010 24001340 Not Available SPACER, DOOR HANDLE
011 24001342 74005230 Nut, Lock
012 24001077 GASKET, DOOR
013 24001343 Arm, Latch
014 24001465 Not Available (Eé:%%)L' ROTATION SPIN

015 Y24001100 Not Available GLASS, DOOR


http://www.pwslaundry.com/c-299856-commercial-maytag-maf50pna-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799995-maytag-24001103-washer-rod-push-button.html
http://www.pwslaundry.com/i-7800353-maytag-24001721-washer-pin-spring.html
http://www.pwslaundry.com/i-7800121-maytag-24001338-washer-spring-door-lock.html
http://www.pwslaundry.com/i-7800120-maytag-24001336-washer-handle-door.html
http://www.pwslaundry.com/i-7800122-maytag-24001339-washer-washer-nylon.html
http://www.pwslaundry.com/i-7801865-maytag-3400814-washer-screw.html
http://www.pwslaundry.com/i-7802480-maytag-74005230-washer-nut-lock.html
http://www.pwslaundry.com/i-7799972-maytag-24001077-washer-gasket-door.html
http://www.pwslaundry.com/i-7800124-maytag-24001343-washer-arm-latch.html

016

017
018
019
020
021
022
023
024
025
026
027

028

029
030

W10124350

24001466
24001333
24001305
24001334
24001467
24001417
24001415
24001470
24001414
24001472
NLA

NLA

24001474
24001475

7103P070-60

4450038

3400086

Not Available

Not Available

Not Available

Not Available

Not Available

NOT REQUIRED PART OR
SEE NOTE

Shim, Hinge

Hinge, Door

Nut, Fiberlock

Mount, Door

Screw, S.s.

Nut, Top Pilot

Washer, S.s.
MAGNET

Screw

Switch, Magnet Position
TRIM, OUTER PANEL

PANEL KIT, FRONT OPL
(ALM)

Screw, 10-32 X 3/8
RIVET, POP S.S. (1/8 X 1/4)


http://www.pwslaundry.com/i-7800192-maytag-24001466-washer-shim-hinge.html
http://www.pwslaundry.com/i-7800117-maytag-24001333-washer-hinge-door.html
http://www.pwslaundry.com/i-7800107-maytag-24001305-washer-nut-fiberlock.html
http://www.pwslaundry.com/i-7800118-maytag-24001334-washer-mount-door.html
http://www.pwslaundry.com/i-7800193-maytag-24001467-washer-screw-s-s.html
http://www.pwslaundry.com/i-7802463-maytag-7103p070-60-washer-nut-top-pilot.html
http://www.pwslaundry.com/i-7800163-maytag-24001415-washer-washer-s-s.html
http://www.pwslaundry.com/i-7800162-maytag-24001414-washer-screw-s-s-no-6-32-x-1-2-pltd.html
http://www.pwslaundry.com/i-10763567-maytag-4450038-washer-screw.html
http://www.pwslaundry.com/i-7800195-maytag-24001472-washer-switch-magnet-position.html
http://www.pwslaundry.com/i-7800196-maytag-24001474-washer-screw-s-s-no-8-32-x-3-8-pl.html
http://www.pwslaundry.com/i-10763560-maytag-3400086-washer-screw-10-32-x-3-8.html

	Maytag MAF50PNA 04 - DOOR & RELATED ASSEMBLY

